(45~68.70~72)




x *

=1

. o 18 B . o L] ¥ ;
B & = FNo Bo& B BS-401 | BS-601 | BS-801 i i B &F| = FNo. ®oA B BS-401 | BS-601 | BS-801 i s
1 22714-1111-4 | ¥ 337 F 1 1 1 43 34150-2939-1 | a—Fr 5> 7 1 1 1
2 22714-1116-1 | 240X R T 1 1 1 44 22735-2220-1 | Ky 27 A Fv b (arbo—pn) 1 1 1 @B~ 68, 70
3 22714-1112-2 | ¥+ v 7 1 1 1 45 22735-2321-1 Ky X (arbo—u) 1 1 1
4 03004-50614 FHEAIXIRTD 1 1 1 M6X 14 46 22735-2122-1 TNV Ky 7 X) 1 1 1
5 22714-1113-1 | 254 ¥34F 1 1 1 47 22735-2131-1 | #/5— (1. a~ bo—)) 1 1 1
6 01202-50610 F b 1 1 1 M6X 10 48 01202-50610 FE b 10 10 10 M6 X 10
7 08141-06202 F—NRTY Y 2 2 2 # 6202LLU 49 2273521321 | 755 v b (A4 v F) 1 1 1
8 04014-50140 v HH R 1 1 1 M14 ($30X13.2) 50 22735-2133-1 | A,X— (2. arira—i) 1 1 1
9 22735-1117-1 | 733K X1 1 1 1 51 22735-1181-1 | 75> 7 (9.9—10.9) 1 1 1
10 04611-00350 Ty —o0 7 1 1 1 R—35 52 14312-2185-1 757 (2—F, 10) 1 1 1
11 01120-50816 Fu b 1 1 1 M8X 16 53 22735-2134-1 | 3=y L — 1 1 1
12 04013-50080 v 5 HH R 1 1 1 M8 (418Xt 1.6) 54 22735-2135-1 | VL=V v b 1 1 1
22717-1215-2 | N> U o5k 1 55 03054-50416 FRIAFY 4 4 4 M4X16
13 22714-1215-2 | /N> s8Rk 1 56 04512-50040 REN i ES 6 6 6 M4
22715-1215-2 | /NT U U 5ER 1 57 02054-50040 F > b 6 6 6 M4
14 22714-1127-1 | 8X25K )L b 1 1 1 11T '58 227352136-1 | Fr kv varz¥k 1 1 1
15 02114-50080 + v b 1 1 1 M8 59 22735-2137-1 | y—<n) L — 1 1 1
2717-1117-2 | N oA T 1 60 22731-3121-1 | ¥y FS v Taf - 1 1 1
16 22714-1117-2 | "> vosg 7 1 61 22124-2115-1 | ¥4 <=— 1 1 1
22715-1117-2 | "o v o4 7 1 62 22124-2116-1 | A4 <—5 54 1 1 1
17 22714-1118-1 A 3 3 3 63 03054-50412 FRIAZY 2 2 2 M4 Xx12
18 22735-1311-1 Favary 1 1 1 64 22735-2138-1 | 2757 v b (AL T 1 1 1
19 01150-50820 A b 2 2 2 M8 X 20 65 22124-2125-1 | 2* 755 v F (Lo F) 2 2 2
20 02121-50080 + v b 2 2 2 M3 66 22735-2227-1 | a—F (Fr¥ V) 1 1 1
21 22735-1218-1 | /3% K X2 1 1 1 67 227313131-1 | ¥ 33757 4P 1 1 1
22 03651-00808 AR 2 2 2 M8 X8 68 2273521252 | ¥x 7 ¥ AX¥a—F 1 1 1
23 22719-1129-1 | XR b X B F 7 2 2 2 22735-2126-1 | 23— F (£—7%) 1 1
24 01053-50610 Fv b 4 4 4 M6X10 7T & 22735-2226-1 | I—F (£—7%) 1
25 04512-50060 | /NEFHH F 4 4 4 M6 70 2271421271 | 29 F vy —5 X)L 1 1 1
26 22124-1112-1 | w27 v ¥ Yo x v b 1 1 1 71 22735-2128-1 | a—F (M) 1 1 1
2 22735-1214-1 | ~X— A 1 1 72 22124-2121-1 | A E¥ YR A v F 3 3 3
22735-1314-1 | X— R 1 73 22882-2117-1 | EI L4 — 1 1 1 biERL
28 57077-50612 TLR—FKYy 2 2 2 M6X12 74 02021-50050 F v b 2 2 2 M5
29 02021-50060 >zt 6 6 6 75 22732-4231-1 | 754 THFE—} 1 1 2
30 22735-1115-1 I —H—F 1 1 1 76 22732-4133-1 TANLF 1 1 2
31 22735-1216-1 | k— A H A F 1 1 1 77 22732-4132-1 | ¥R —F—} 1 1 2
32 22735-1121-1 | A4 7 (F¥avavy) 1 1 1 78 22735-3311-1 MYT VALV AL 3 1 1 1
33 22767-1138-1 Vyr—F (bavay) 3 3 3 22734-3117-1 | I~V (B ¥ T *) 1
34 | 0102650616 | & b 3 3 3 M6X16 FRER 79 | 227353117-1 | I~ (B 5T ) 1
35 22735-1122-1 | v v ¥ (F¥avavy) 2 2 2 22736-3117-1 | XNV (B ¥ T F) 1
36 | 22735-1123-1 | ATV (Y xv¥) 2 2 2 80 | 22111-1133-1 | A4 F>¥=—7 1 1 1
37 | 22735-1124-1 | ¥ (Y v v %) 2 2 2 81 22714-3113-1 | AA>3¥ a3 1 1 1
38 | 132161131 | FyF (Fyia) 2 2 2 82 | 2271431141 | kh> 770 2 2 2
" 22871-2111-1 | €— % 1 1 340200V 0.75kw 83 22731-4113-1 | IV (N A > a) 1 1 1
22735-2111-1 | £—% 1 348200V 0.75kw 84 22132-3115-1 | 5~ (2. Fa294) 1 1 1
40 01053-50616 FE b 4 4 4 M6X16 7T 85 22735-3116-1 | I~V (A4 a%) 1 1 1
4l STATL-5117-1 | 197 v 4 4 4 M6 ($19Xt1.6) 86 | 22735-1310-1 | k¥ avaw, avs 1 1 1 i, B~
42 15241-6758-1 | I—Fr 5>~ 1 1 1




25 KEp




7T a iE

A2 NER BS—H

X% | I — FNo. B om & &8 % ] Z % | = — FNo. B & & 8 %% 1 Z

1 | 2273541143 | K- 1 1 | 22793-1211-1 | K& A 1

2 | 22791-1112-1 | LN— 1 2 | 22124-1112-1 | =7V ¥ Zux vy b 1

3 | 01202-50625 | Kb 1 M6 X 25 3 | 22792-1112-1 | W ¥ 7 1

4 | 5747151171 | 192 ¥ 1 M6 ($19X1.6) 4 | 5747151171 | 197V 1 M6 ($19X11.6)
5 | 02014-50060 | F v F 3 | M6 5 | 02021-50060 | v b 2 | M6

6 | 22735-4115-1 | Y2 —¥%— 1 6 | 22792-1213-1 | A b v 8= 1

7 | 03024-50514 | ¥H XY F ARy 4 | M5X14 7 | 22792-1114-1 | 138 5 — 2

8 | 04013-50050 | ¥ T HH X 4 | M5($12Xt0.8) 8 | 01811-50630 | Fa v KV} 2 | M6X30

9 | 2273542112 | K= X—2 1 9 | 04512-50060 | /NFHH % 2 M6

10 | 24115-1158-1 | ¥~ (8—45) 1 10 | 04013-50060 | & THH A 2 | M6{($13X11.0)
11 | 05525-50800 | AF v TE > 1 F-U8.0 11 | 22726-1142-1 | ¥ —7L—}1 1

12 | 57057-1113-2 | /N> FVFENL b 1 M10 12 | 22792-1122-1 | A by » 7 1

13 | 2273542121 | ¥+ 7 2 13 | 01202-50612 | K b 1 M6X 12

14 | 02121-50080 | + > b 4 | M8 14 | 22793-1231-1 | v ¥ 1

15 | 2273542131 | ¥ ¥ 7V FF 1 15 | 01202-50614 | K b 4 | M6X14

16 | 01202-50614 | K b 2 M5X 14 16 | 22875-3142-1 | EIL ¥ H— 1 a¥En

17 | 112203114-1 | T2t~ 4 17 | 02021-50050 | + > b 2 | M5

18 | 22735-4116-1 | A5 4 F¥a—%— 1 18 | 22792-2111-1 | At H¥—a—F2 1

19 | 22791-1119-1 | FHTF)V b 1 19 | 22792-2112-1 | 3007 4 YN F 7

20 | 13211-1151-1 | / 7F v b 1 M6




